
 × 


 점 

    



   lim
→



 점 

    


      cos 

   
 

sincos  점 

  














 








 ≤ 

   

   점 

    

σ
σ √
면

=319 t"
sinθ= 시
Cosθ : -좀

ㅇ ㅇ

√

A
1

k9tz √

6- a=- 1
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  





 

   점 

    



    

  점 

    



  

      점 

    

σ ㅇ

√
√

f=3O (≥2agc-Cat2)
- 4+1ta=o A=3

ACa= 3aβ=2a 국a-2
foc= - 8C+1

=
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fock (β-2x즈4xt3

-4 3σ 소부는δ ⑯

4

√

U=2

A=4
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     log   log

  log     점 

    



lim
→

 

 lim
→

  점 

    

  

 
    

   점 

    

θ ㅇ ㅇ

ㅇ 1
√

√
a= 2l0g23 5= log3C A

ab= loy2c
2

XCI5C-6= o
ㆁ

형 B C

σ Boc= Z×XI×I×θ
=

풍

BC= B
~

√

fcl)tfl=o



 
≥  

    
 

      
       

 점 




 


 





 








  ≤ 

 ×   

   

 



       

점 

    

① σ
⑯

ㅇ

_

~ _

、 429
√ √

V= 3A4ke- 18
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   

  
   

          
      ′    점 

    

       sin
  

   sin



 



 점 

  


 




ㅇ σ ㅇ

① 1
≈ √

서더다어=sin[Ya(15-a7=36
= + Sin포

l5a-a를3(

aztat36o
S= 5x주45 급

x=3 3 교점 (α . 8in품α)
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1 - sinz품α= α2



 

lim
→


   

 
        

      점 

    

log≤ 

 점 

 ′     
  점 

① ①
32

을
1

IKx≤ 33 32

fx= 3차

lim f(= +음+ 불 tc ) x3
7α

x
"F() = Cxebxkam
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 







 



 



 점 

  ′

 

lim
→

  

   ′≠  점 



 








   

  ≥ 

≤ ≤  
점 

σ ①
ㅗ

~

ltle4
Ʃ
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며
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
′ ∞

′ 













 ≤   

 ≤   

  ≤   

 ′ ′

    
 

    점 

가   

나 



 

  점 

가 모든 자연수 에 대하여                           
         이다.
나 이상의 모든 자연수 에 대하여   이고      

    



  이다.
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lim
→
ln
ln  점 







  

 


∞
    

lim
→∞   점 

    

ㅇ
σ

√ √

limdn= 3
MD
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 



sin 




 

점 

    



       
′    ′′  점 

    

ㅇ ⑦

√ ∞
fx= 2sin(x2) f(3계

x!= sin(a )(2S
.

.

S
.

프

A
xixㆍ3 항 -S.fa= 2



  lim
→∞




 
 







cos  점 















 

  ×
   ×



  

  점 

가 


∞




 



나   lim
→∞

 ≤ 

    

σ O

1 1

√

금E 1 - 3x(명)
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S
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 
cos  

 

   





′ 

  

      
     점 

    ∞

 ′

′  sin

  
  lim

→∞
    

  






 

     점 

ㅇ
①

① 1
≈

요 7
당기 =sinπ+형

. 몽
157 Sina)=⑥ x=

품

π 쯤 3중
(극값 x)
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㉘
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⓹
⓵
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⓸
⓵
⓶
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

lim
→∞




 lim
→∞



 



   



   ′ ≤  

①
① 이

≈

상수함수 3

4
f(x= xe3



  
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i) n=그 점수 : (2)를 a며 atzcmn

33 b= b × 2m

=3 점수 : )국

= 3 S='음 (Ja+ o)
= Ga+3o

n=4 정수 : 4874
② T6= b (2의)= 63b

nE 5정수 :]
5

② 6a+3o= 63b

a)n <2 2a+ 1o=21b 42

3n2 <2n
b=2 a= 16

임 ⑧

7 2

8 1
짚

암
na9 I

:
S = 3 ×2+2 ×4+ 1 ×13 =27



 




′ ′   

′ ′   
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σ ㅇ

' ∅
R=3f

dny θ
8

act44= b=2 b-5=→

. 숨*.녀의
= J×B②

8

S=*bcx2품
bc=α물
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∅
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I04 ⑦

fdx= 3x: zax-baz
4구YO 3 (2-2a) (xa)

iDko

fexk - O에 (x-4) N않있
④

g(x= 2(o-ar
a=-2

2
3×62 33108

-447

S.
4
-x주3x-4 m f= (x-PC더미 -Hn☆m FC4= 44 - 10= - 63

-중+2x군<(때,↑ 4 J 닝
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